www.regional.ac.in

No. of Printed Pages : 2

|

EL308 RoOIING. ¢ vovereccserossasconses

g

, 2015 .
TELECOMMUNICATION & SWITCHING NETWORKS
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Time allowed : Three Hours] [Maximum Marks : 70

T (i) T A B sty 7 @ f=t wre & SR & |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) T g & ol e %} TR U Qe €7 HioTT |
Solve all parts of a question consecutively together.
(iii) gl g & 79 T @ RRT BT |
Start each question on a fresh page.
(iv) ﬁwﬁﬁwﬁ##@ﬁﬁﬁﬁwﬁw? !

Only English version is valid in case of difference in both the languages.

L quf waifeter STt shl T BT |
Define the fully connected network.
(i) SRR Jhadd ST ?
What are the enhanced services in telecommiunication ?
(ii1) feafem Sifrg g o7 aegd ¥ 2
What is meant by switching office ?
(iv) e Sy et wa fefra fear = & 2
What is an input controlled time division switch ?
v) 24wﬁﬁwﬁﬁmwmﬁq@ﬁﬁ%?

Which are the most busy hours for a telephone exchange in 24 hours ? (2%5)

2. () AT e T wEE § Rt yome % 0w ST o G |
Explain the basic elements of switching system with the help of block diagram.
(i) veri w fef d H=Ed SPC 7 Fafer forerent = woemEd |
Explain various modes of centralised SPC in electronic space switching. (6x2)
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(i) Totoeii-e @y fafn & “TTHaaR i Sl TaAEY |
Explain the “software architecture” for electronic space switching.
(i) i Taf=a gug fousm @Y feg = SR gaeEd |
Explain the working of output controlled time division space switch. (6x2)
(i) Terereie Wy fafa & 5w st & fou fafar gaar =1 moEr St |
Calculate the switching capacity of a two stage network for electronic space
switching.
(i) T AeRiads 99g FafenT T 9oy |
Explain time multiplexed time switching. (6x2)
(i) T SN e T T & R T g e SR |
Give a brief idea about source multiplexing and destination multiplexing.
(i) MAN % @19 71 81ET [y |
Write the advantages and disadvantages of MAN. (313, 6)
(i) et 2ftheh YR o1 TRed & 91§ 70y |
' Explain about network traffic load and parameters.
(i) THER ST T TR Sl § (&g qoiT iy |
Make a detailed comparison between single stage networks and multistage
networks. (6x2)
(i) S YOI & Se i S07 qe seRi; wiaehar S 9esd |
Explain grade of service and blocking probability for a communication system.
(i) PSTN & aR # dfege faaror s |
Give a brief idea about PSTN. (3+3, 6)
forel gt a¥ Sy femfordt fafae .
Write short notes on any two :
(i) TS UiHAT
Markov process
(i) S=LTLTE
WAN

(iii) gam fatar 4 wg 9y few

Space time switch in combination switching (6x2)
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